Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Semester V"™ Examination December - 2010

Subject code: 350902
Subject Name: Industrial Electronics

Date: 27 /12 /2010 Time: 02.30 pm - 05.00 pm
Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic
Q.1 (a) Draw and explain the circuit of three phase full wave bridge type rectifier. Draw
the waveforms and state the sequence of conduction of diode.
(b) Draw and explain the circuit of full wave controlled rectifier with UJT control.
Also draw the waveforms of the output current wave.
Q.2
(@) Draw and explain the circuit for the speed regulation of D.C. motor using tacho
generator.
(b) Draw and explain the circuit for the speed control of 1-® A.C. motor using two
SCRs connected back to back and one UJT.
OR
(b) Explain construction , working and Turn on, Turn off process of MCT.
Q.3
(@) Draw and explain the circuit of full bridge inverter with commutating circuit.
(b) Explain construction , working and characteristics of IGBT.
OR
Q.3 (a) Whatis commutation? What is forced commutation of SCR? State the types of
forced commutation and explain any one type of commutation.
(b) Explain principle of inverter. Draw and explain SCR single-phase series
inverter circuit with waveforms.
Q.4
(@) Explain principle of chopper. Draw and explain the circuit of  class A chopper
with waveforms.
(b) Draw and explain the block diagram of resistance welding and explain welding
sequence.
OR
Q.4 (a) Explain the principle of induction heating. State the effect of frequency on the
heat produced and on the depth of penetration.
(b) Draw and explain the flame failure circuit using LDR and SCR.
Q.5
(a) Draw the circuit of a burglar alarm circuit using photocell and explain its
working.
(b) Draw and explain the circuit of sequential timer using IC 555.
OR
Q.5 (a) Explain principle of SMPS. Draw and explain the block diagram of SMPS.
(b) Draw the circuit of twilight switch and explain its working.
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gl 382 gctdal ol ysiotl Aseslauell URULU ElFlal UMl Aol
wIGaye Adgi €l slalsell dgatoll 51 AMLCl.

UJT Soglct AR8l2clloll $Et Aot sogles AseglaRell uRU €13l uHm A,
wIBaye s22all dasiil elll.

SLAL AeRetl Uls 202jA2let Hi2ell 25l%etReell Gullol sl URsle
E131 Amestal,
A SCR A5 2 As AsUl sl Al W UIT $8% g2 soalcall GuAoL

53lal 1-@ A.C. HleRell 1ULs seplctell uSle €131 unestal.
Yl
MCT ol RUcll, 5121 AA 2ol Blot, 2ol ANy YWAY AHNLA,

sligeelol uzsle Al et ofly Boalell uSle €3 unmAl.

% IGBT ofl UL, 5121 ol L@l UM

2l

sl1Jeelot WA 9? SCRoj S8 slieatet Wed 9? SRS slijelatsil
YR ARUAl ua SlBURL As YsIRo] Sl1jelet AHastcl.

Bocleeoll Rttict AHstal. SCR Aot $823 Al goctéell uRsle €171
ALl U UM,

AUR oll Rttt AHA A s — A AURAl ARSle €131 claldsdl
AHostal.

0flrect Acslotell ocdls sl €131 UMl wal Aeslol Ulsaat

AHesLal.
Yl

80550t SlElolell Rttlld UHMA. dle Gl Ucll GUR ol Uoll2 3ot
3w UR glsclo{loll AR UM
LDR 3ol SCR oll GUIL 53lal SASH $85clR USle €1 wal UHsIAll.

glal Actall Gulol s3lal woldR Aol Asle €131 Aqf stal umenal

IC 555 ol GURNL $3lal Alscac{lad 2lesHRe(l URSle €12 ol YHA.
YL

SMPS oll it Amscl. SMPS ofl oclls vl €131 Aoj st Al

A4 alsclse wluell Usle 1R wa Agj st2l Anestal
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